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Set-1 {x) With referensce to quality control explain the
terms attributes and variables
R {h) Define mt_lrrm producer’s risk and
customer’s risk.

Time : 3 hours
mr - 1) Explain what is understood by failure of an

Answer (. No. 1 and any five of the SRR reig

r : the terms malntainability and
) Define
The figures in the right-hand margin indicate marks i e
1. Answerin briefthe following : 2x 10

{a) Differentinte betw isi

3 Afitlsspecified as 40 b 5,

(i) Sketchthe tolerance disposition of hole and
shaft for the fit.

d accuracy,

2

(b) Explain the difference between gauging and

e {if) Change the basin of the fitand show the
tolerance disposition.

inas the dim
shaft for the fir.

Tox
Determine the dimensions of the gauges
[mmmmmwmmmm 3

{ Comascsad |

{e) Define hole basin and shaft basin systems
of fir.

()’ Differentiate between wlerance and allowance. (]

() With reference to surface roughness exploin
the tesing lay and meter cut off.

of the hol

() Define quality.
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component. The sub-group size is 5. The
values of X and R are computed for each
sub-group and the values of £ ¥ and ZR for
25 sub-groups are found to be 614-8 and
120-0 respectively. Compute the values

of 3-signal limits for the X-chart.
Assume R = 2:326 o* where o is the standard
deviation of population. 6

6. (a) Discuss the different characteristics of
O. C. curves. What is the limitation of the
O.C. curve ? 2

(&) A lot for inspection contains 1000 items
of which 10 are defective. If a sample of
36 items taken from the lot contains 0
defective the lot is accepted, if there are 1,
2 or 3 defectives in the first sample a
second sample of 59 items one taken and
if the total number of defectives in 1st
and 2nd samples is less than 3 then the
lot is accepted. Calculate the probability of
acceptance of the lot. 8

7. (a) What do you understand by the term
reliability and why it is required ? 5

b i ( Continued )

(3

Dmta given :
Diametral step — 30 - 50
1T6 =101
1T8 -5
1T —40i

Fundamental Deviation = 1T 8+ 110 4.

ot mmm.mwmmmw y
of o part.
[
Deseribe 3-wire method of measurement o
o muﬁ:mmnmm 6

4, () With respect to gears explain what is meant
by compasite error.

{6) Describe how tooth tickness of gearscan
be measured.

thnt affect
Emumecratie in detail the factors
e the quality of 4 component.
maintaired
b) Control charts for ¥ and R are mai
@ for control of an wdm ofn

{ T hver )
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(35)

() Derive an expression to determine the fmlm;e
of a system comprising of n <:om.pcmer;l s
connected in parallel. Dc?te'rmme the
reliability of a system consisting of fou-r
identical units connected in parallel each L';:u:
having reliability factor of 0-9. Assume tha
the failure of units are independent of one

S
another.
10

8. Write notes on :

(i) Qualitative methods of determination of

surface roughness
(ii) Selection of sampling plan.
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